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Section 1:  Overview & what is Internet?
Q1: What is the Internet?
The Internet is a global network of computer networks
Internet = the Net = Cyberspace
Q2: How a computer is connected to the Net? 

Answer:
a) Connect your PC to a local network
· Via a modem and a telephone line
b) The local network has a computer called host
· It has access to the global network
c) Connects other computers to Internet
· Acts as a gateway between the local network and the global network
Q3: Each computer connected to the Internet has a unique address called ____________ which is used to locate any computer on the Internet. (Answer: IP Address)
Q4: Some IP Addresses translated into words by a computer known as _________________. (Answer: DNS – Domain Name Server).
Q5: The the Internet is centralized. (Answer: False).
Q6: IP Address can be __________ or __________. (Answer: Dynamic & Static). Dynamic means it changes each time you connect. Static means its always fixed.
Q7: Static IP Address usually used for client. (Answer: False). It is usually used for websites, clients are dynamic.
Q8: Static IP Address fixed and well known address. (Answer: True).
Q9: Static IP Address can be located and accessed easily. (Answer: True).
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Q10: the Static IP address:
a. usually used for servers

b. fixed and well-known addresses

c. can be located and accessed easily

d. All of the above

e. None of the above

Answer: d

Q11: the Dynamic IP address usually used for server. (Answer: False)
Q12: the Dynamic IP address is a variable. (Answer: True).
Q13: the Dynamic IP address:

a. usually used for clients

b. variable

c. usually used for servers

d. can be located and accessed easily

e. all of the above

f. a and b

Answer: f (variable means it changes)
Q14: What’s the URL stands for

a) Universal Resources Locator

b) Union Resources Locator

c) Universal Recorders Locator

d) None of the above

Answer: a (Please note… the correct answer is Uniform Resource Locator, but the AOU always makes this mistake so if you see Universal then it is true.)
Q15: Mention four parts of the system thinking:
Answer:

a. A system is an assembly of components connected together in an organized way
b. The components are affected by being in the system and are changed if they leave it.
c. The assembly does a task and fulfils a function

d. The assembly, as a whole, has been identified by some observer who is interested in it.
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Q16: Why we do need system thinking?
Answer:

System thinking helps to achieve the following:
a) Focus on the whole properties rather than components

b) Pay greater attention to the ways components interact

c) Take multiple partial views of things

d) Look at things from many different perspective

Q18: The clock system and the car system is type of _____________. (Answer: System Thinking).

Q19: The iron, bricks, cement, water, etc, assembled in different ways, produce different types of buildings, this refers to the system thinking type:

a) The assembly does a task an fulfils a function

b) The assembly, as a whole, has been identified by some observer who is interested in

c) The components are effected by being in the system and are changed if they leave it

d) All of the above

e) None of the above

Answer: b
Q20: The Internet can be viewed and used as a large encyclopedia containing amount of information related to every topic. (Answer: True).
Q21: The Internet can be viewed and used as a market place in which goods and services are sold and bought. (Answer: True).

Q22: The Internet can be viewed and used as a discussion medium with over 30,000 discussion groups. Usenet newsgroup and Global versions of conferences. (Answer: True).
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Q23:  The Internet can be viewed and used as a broadcast medium such as radios stations and audio-visual material such as (MP3 files & Video Clips).

(Answer: True).

Q24: The Internet can be viewed and used as a huge virtual supercomputer, a publishing medium and an online archive for anyone to consult, includes consultation documents and On-line help. (Answer: True).
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Section 2: ARPANET
Q1: ARPANET stands for _____________________________.(Answer: Advanced Research Projects Agency).
Q2: ARPANET stands for:
a) Advanced Research Palo Alto Net
b) Advanced Research Project Air line
c) Advanced Research Project Agency
d) None of the above
Answer: c
Q3: ________________ is a director in ARPA (1962 – 1964). (Answer: Licklider).
Q4: ________________is a director in ARPA (1962 – 1964).

a. Claude Shannon

b. Vint Cerf

c. John Postal

d. Bill Gates

e. Licklider

f. None of the above

Answer: e
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Q5: The key institution of the Internet was the _____________________________. (Answer: MIT – Massachusetts Institution of Technology).

Q6: The key institution of the Internet was the ________________. 
a) PARC
b) MIT
c) NWG
d) None of the above
Answer: b
Q4: The most important three in the internet story:
a. Vannevar Bush

b. Norbert Weiner

c. Claude Shannon

d. Bill Gates

e. A,B and C

f. None of the above

Answer: e
Q5: __________, who is forgotten from 1939 – 1945 (as a result of the Second World War) and influenced the creation of WWW. (Answer: Vannevar Bush).
Q6: __________, worked on control systems for anti-air craft guns in the Second World War. (Answer: Norbert Weiner).

Q7: ___________, noticed similarities between human-beings and machines. (Answer: Norbert Weiner).
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Q8: ____________, noticed similarities between human-beings and machines.

a. Vannevar Bush

b. Norbert Weiner

c. Claude Shannon 

d. Bill gates

e. None of the above

Answer: b

Q9: _____________, talked about ‘the boundary regions’ of science. (Answer: Norbert Weiner).

Q10: ______________, created a model for the process of communication, ‘the scientific basis for the communications theory’. (Answer: Claude Shannon).

Q11: Claude Shannon created a model for the process of communication contained 5 elements, try to mention them:

Answer:

a. An information source

b. A transmitter

c. A transmission channel

d. A Receiver 

e. A destination 

Note: it also raised the concept of redundancy in communication

Q12: ARPANET was a special agency within the United States Department of Defense (US DOD) to fund and foster researchers in many important areas, including computing (Answer: True).

Q13: What’s the meaning of the computers operated in batch mode?

Answer: 

No direct interaction with the user, during the processing.
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Q14: The first time-sharing computer was setup by __________________, at MIT in 1957.(Answer: John McCarthy).

Q15: ARPA’s networking project Managed by ______________ from MIT. (Answer: Lawrence Robert).

Q16: Nodes with large time-sharing computers at the connected sites are called _____________. (Answer: hosts).
Q17: What’s the different between Circuit-switching vs. packet-switching?

Answer:

1- Circuit-switching:

a- a physical connection has to be established between the communicating points (sender & receiver).

b- The switched connection should remain active until communication is done.

c- Reliable 

d- Rarely breaks down

e- Very inefficient and expensive

2- Packet-switching

a- No entire circuit dedicated for one single message

b- Many messages may be sent on the network at any time

c- No wastage when data is not being sent

d- Very efficient, when network is being flooded with packets.
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Q18: What are the advantages and disadvantages of the circuit-switching?

Answer: 

1- Advantages

b- Reliable 

c- Rarely breaks down

2- Disadvantages

a- Very inefficient and expensive

b- The entire path has to be dedicated regardless of how much data is being transmitted 

c- The connection has to be made prior to transmission and is maintained until the connection is terminated

Q19: In Packet-switching a physical connection has to be established between the communicating points (sender and receiver). (Answer: False).
Q20: The concept of the packet-switching was developed by ___________ and ______________. (Answer: Paul Baran, Donald Watts Davies).

Q21: What are the advantages of the packet-switching?

Answer:

a) No entire circuit dedicated for one single message

b) Many messages may be sent on the network at any time

c) No wastage when data is being sent

d) Very efficient, when network is being flooded with packets.

Q22: Mention the meaning of the shifting paradigms:
Answer:

a- Time-sharing instead of batch systems

b- Digital instead of analogue systems

c- Distributed instead of cartelized networks

d- Packet-switching instead of circuit-switching 

Note: Moving from one technology to the other and it was the idea of Thomas Kuhn.
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Q23: ________________ was invented in Geneva in 1989.

a. WWW

b. HTTP

c. FTP

d. TCP/IP

e. None of the above

Answer: a

Section    1    2    3    4    5    6    7    8
Section 3: Making the Network
Q1: IMP’s stands for _______________________________. (Answer: Interface Message Processors).

Q2: What’s the IMP’s?
Answer:
a) In a packet switching network, a small computer is inserted between each host and the network of transmission lines,

b) These are called IMP’s, These IM’S are linked together to form a sub-network of IMP’s, and acts as the host’s interface to the network.

Q3: NWG stands for ________________________. (Answer: Network Working Group).

Q4: RFC stands for ______________________. (Answer: Request for Comments).

Q5: the first packet switching network using 2 IMP’s was built in October 1969. (Answer: True).

Q6: in 1968, a group of graduate students from two universities (University of California at L.A and MIT) set together to discuss what applications would be built on the ARPANET, this group was called MIT. (Answer: False- NWG).
Q7: The NWG organized a series of meetings and documented their notes and findings on what the called ________________________. (Answer: RFC- Request For Comments).
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Q8: Why the RFC documents are very important?

Answer: 

a) they promoted cooperative and open work methods

b) They are timely documents containing information that comprise the consensus of the network developers

c) Today, the RFC’s present and accurate trace on how internet software evolved

d) The network working group used RFCs to evolve a whole set of protocols for the new network.

e) Vint Cerf and Jon Postel were key persons for protocol development.

Q9: ________________ and ________________ were key persons for protocols development. (Answer: Vint Cerf, John Postel).
Q10: Mention the main functions of Network Protocols?

Answer:

a. Provide rules that govern how the computers communicate

b. Give exact meaning to the bits flowing between the IMPs

c. Concerned with passing messages

d. Specify the format that a message must take, and the way in which computers must exchange a message within the context of a particular such as exchanging e-mail, establishing remote connections or transferring files.

Q11: SMTP Protocol stands for _________________________. (Answer: Simple Mail Transfer Protocol).
Q12: FTP stands for ___________________________. (Answer: File Transfer Protocol).

Q13: NNTP stands for ____________________________. (Answer: Network News Transfer Protocol).

Q14: Simple Mail Transfer Protocol used to send and receive electronic mail. (Answer: True).

Q15: File Transfer Protocol is used to transfer files between computers. (Answer: True).
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Q16: Hyper Text Transfer Protocol is used to transmit information on the World Wide Web. (Answer: True).

Q17: Network News Transfer Protocol is used to transmit network news. (Answer: True).

Q18: Network Working Group (NWG) created a Network Control Protocol (NCP), which enabled different hosts on the network to communicate. (Answer: True).
Q19: NCP stands for __________________________. (Answer: Network Control Protocol).

Q20: Telnet protocol used for logging into remote hosts. (Answer: True).

Q21: One of the most important applications that were developed on the ARPANET was TELNET in 1970. (Answer: False – It was e-mail).

Q22: ______________(a hacker) had written the e-mail, he was the first used the symbol “@” to separate the sender’s name from the network-ID. (Answer: Ray Tomlinson).

Q23: Three quarters of the network traffic was email. (Answer: True).

Q24: Mention why the three quarters of the network traffic was email?

Answer:

a. It is a fast way of communication informal message

b. Message are easily composed with the help of email clients and delivered instantly to the addresses.
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Section 4: From ARPANET to the Internet
Main Ideas covered in this section are:

· Gateways

· Transmission Control Protocol (TCP)

· Internet Protocol (IP)

Q1: TCP stands for _____________________________________. (Answer: Transmission Control Protocol).

Q2: IP stands for ____________________________________. (Answer: Internet Protocol).

Q3: The __________________________ network (setup by Donald Davies). (Answer: British NPL).

Q4: The British NPL network setup by ___________________. (Answer: Donald Davies).

Q5: _____________ packet-radio network in Hawaii. (Answer: ALOHA).

Q6: The satellite network _____________.

a. British NPL

b. Cyclades

c. ALOHA

d. SATNET

e. None of the above

Answer: d
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Q7: How Vint Cerf had solved the problem of using different platform of network and incompatibility?

Answer:
a. Using computers known as Gateways (later known as Routers) between different networks.

b. Making hosts responsible for end-to-end transmission of packets, together with error correction and retransmission if necessary

c. Devising the protocols necessary for performing the previous two tasks.

Q8: The protocols TCP/IP were developed by _____________ and _____________. (Answer: Vint Cerf, Robert Kahn).
Q9: The protocols TCP, IP were developed by Vannevar Bush and Robert Kahn. (Answer: False).

Q10: The critical feature of TCP/IP was its ___________________. (Answer: Open architecture).
Q11: TCP/IP enabled the huge growth of network connectivity link into the internet. (Answer: True).

Q12: Long messages are broken into smaller, equal-sized chunks called _______________. (Answer: Packets).

Q13: Packet is a string of bits divided into different _______________. (Answer: Segments).

Q14: The number of segments for each packet is:

a. 1

b. 2

c. 3

d. 4

e. 5

f. None of the above

Answer: c 
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Q15: mention three segments of the packet.

Answer:

1- Header

2- Data payload (original message)

3- Trailer 

Q16: Always the headers depends on the layers protocols. (Answer: True).

Q17: TTL stands for ___________________________. (Answer: Time to Live).

Q18: mention the job of the TTL.

Answer: 

Time allowed for the packet to persist in the internet before being discarded by a router or host.

Q19: The HTTP protocol allows you to get pages from Internet, and to communicate with the web. (Answer: True).

Q20: PPP stands for _______________________. (Point to Point protocol).

Note: Point-to-Point protocol governs the transmission of IP packets over serial lines like the one running from a user modern to ISP’s modem.

Q22: Packets travel _____________ up and down through the layers. (Answer: vertically).

Q23: Why the TCP/IP called stack protocol?

Answer: 

a) These protocols are designed and operated using layered approach (layered model of communications).

b) Each layer performs a specified job and cooperates with the next layer and packets travel vertically up and down through the layers.
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Q24: The link layer is lower layer. (Answer: True).
Q25: The link layer responsible for communicating with the hardware which connects your machine to the internet. (Answer: True).

Q26: The link layer can be a Ethernet Card. (Answer: True).

Q27: The Network layer deal with the IP – Internet Protocol. (Answer: True).
Q28: the Transport Layer deal with TCP Protocol.(Answer: True)
Note: The Transport Layer deals with the disassembly and reassembly of packets, error detection and correction to ensure the reliability and integrity of messages.

Q30: The application layer at the top of the stack. (Answer: True).
Q31: The Telnet protocol embedded in the particular application program you use to login to a remote machine. (Answer: True).
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Section 5: Mass networking and its culture
Q1: Fidonet network was built by hobbyists and enthusiasts, and it’s an alternative to the net. (Answer: True).

Q2: The Usenet News was a way of exchanging news and opinions among large number of people. (Answer: True).

Q3: UNIX is a Multi-user time sharing operating system. (Answer: True).

Q4: What’s the time sharing system?

Answer:

A time sharing system is a system that shares the CPU time among the users of the machine.

Q5: UNIX was created at _______________, the center research and development facility of AT&T company.

a. PARC

b. MIT

c. Bell Labs

d. All of the above

e. None of the above

Answer: c

Q6: _________________ is the inventor of C-Language. (Answer: Denis Ritchie).
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Q7: in 1971, AT&T decides to sell _______ for research institutions and universities for very cheap price. 

a. Microsoft Office

b. Novell

c. Unix

d. Novell

e. None of the above

Answer: c

Q8: mention the main features that distinguished UNIX from other operating system:

Answer:

a. It was the only powerful OS which could run on the minicomputers used in most universities.

b. The source code was included, and the AT&T license included the right to alter the source code and share changes with other licensees.

c. One major advantage of UNIX is the existence of Kernel

d. Final stage of UNIX was written in C language.

Q9: What’s the benefit of writing the UNIX with the C-Language?


Answer: 

a. Easy to understand and modify because the C-Language is a high level language.
b. C-Language is allowing UNIX to be Portable.

Q10: UUCP stands for ______________________________. (Answer: Unix to Unix Copy Program).
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Q11: What’s the benefit of using UUCP?

Answer:

a. Enabled users of UNIX to import new Unix Programs and release.

b. As well as exchange some common discussions through a phone a phone line.

Q12: The ______________ build by hobbyists and enthusiasts, it emerged from bulletin board technology as an alternative to the Net, and it was the first system that allowed PC home users to receive and store information. (Answer: Fidonet).

Q13: What’s the intellectual property includes?
Answer: 

a. Patents

b. Trade Mark

c. Design

d. Copyright

Q14: ___________ is type of intellectual property which is mainly for new inventions. (Answer: Patents).
Q15: ___________ is type of intellectual property which is used to identify and distinguish products. (Answer: Trade Mark).

Q16: ___________ is type of intellectual property which is mainly for shape and appearance. (Answer: Design).

Q17: ___________ is type of intellectual property which includes protection for books, music, films and software. (Answer: Copyright).
Q18: Open source was established by ___________, its main idea to have the software and its source code free and available for programmers to benefit from and improve in a cooperative manner. (Answer: Richard Stallman).
Q19: ___________ grants to users of a program the right to alter its source code, provided they pass on the right to alter the revised code under the same terms. (Answer: Copy Left).
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Q20: Linux is a clear example of Open Source software. (Answer: True).

Q21: Linux is developed by _________________. (Answer: Linus Torvalds).

Q22: Linux is an alternative operating system based on cooperative development and the ‘Copy Left’ Principle. (Answer: True).
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Section 6: The development of the World Wide Web
Q1: GUI stands for __________________________________. (Answer: Graphical User Interface).

Q2: WWW stands for ___________________________________. (Answer: World Wide Web).

Q3: The concept of WWW plays the same role for the Internet, made Internet easier to use by everybody. (Answer: True).

Q4: WWW is the most used interface to the Net. (Answer: True).

Q5: _________________, in 1945, he published an article titled “As we may think” at Atlantic monthly magazine. (Answer: Vannevar Bush).

Q6: ______________, he was a Navy radar technician, after leaving the Navy, he became a computer scientist. (Answer: Douglas C. Engelbart).

Q7: _______________, invented many of the fundamentals of modern PCs such as (Resizable windows, Bit-mapped screens, Video conferencing, Computer Mouse). (Answer: Douglas C. Engelbart).

Q8: _________________, created the hypertext concept. (Answer: Ted Nelson).

Q9: Ted Nelson he had worked on a ___________ project, an attempt to construct a global hypertext publishing system, and it was the longest project in the history of computer industry, took more than 30 years.(Answer: Xanadu).

Q10: Xanadu also called ____________.(Answer: Docuverse).

Q11: _____________, a programmer and software artist, the author of MacPaint and he invented the HyperCard.(Answer: Bill Atkinson).

Q12: Bill Atkinson, a programmer and software artist, and he is an author of __________________ and he invented the _________________. (Answer: MacPaint, HyperCard).

Section    1    2    3    4    5    6    7    8
Q13: The first simple hypertext system for personal computers is ___________________. (Answer: HyperCard).

Q14: The core of HyperCard was the _____________. (Answer: Card).

Q15: The programming language which is used with HyperCard is called _________________. (Answer: Hyper Talk).

Q16: The Web –WWW was invented in 1989 by ___________________. (Answer: Tim Berners-Lee).

Note: The special requirements of a hypertext system for CERN were, Berners-Lee believed, that it should:

a. Allow remote access across networks

b. Allow access of the same information from different types of computer systems (be heterogeneous).
c. Be non-centralized (no central or main control).
d. Allow access to existing data.
e. Enable users to add their own private links to and from public information
f. Enable ‘live’ links to be made between dynamically changing data
Q17: The are two main types of browsers:
a. a text-based browser

b. a graphical browser
c. a text-based & graphical browser
d. all of the above
e. none of the above
Answer: c
Q18: The first version of the CERN text-based (line-mode) browser was written by ______________.(Answer: Nicola Pellow).
Q19: The best known text-based browser is _____________. (Answer: Lynx).
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Q20: What are the advantages of the text based browsers over the graphics based browsers?
Answer:

a. Smaller and require less RAM and system resources

b. Faster at retrieving information
c. Can run on hand-held computers (Palm Pilots).
d. They can be used by a visually impaired person using a screen reader
Q21: What are the disadvantages of the text based browsers over the graphics based browsers?

Answer:
a. Cannot handle images (which the WWW relies on).

b. Cannot deal with sites, which are structured using frames
Q22: Some examples of graphics-based browsers:
a. Mosaic 

b. Opera
c. Amaya
d. Netscape
e. All of the above
f. None of the above
Answer: e

Q23: W3C stands for ________________________________. (Answer: World Wide Web Consortium).

Q24: The first of the big browser programs graphical was ____________. (Answer: Mosaic). A killer App because it could display images.
Q25: The Mosaic was developed by ___________ and ____________. (Answer: Marc Andreessen, Eric Bina).

Q26: NCSA stands for _____________________________. (Answer: The National Center for Supercomputer Applications).

Q27: ______________ is another browser written by Andreessen and his team after leaving NCSA. (Answer: Netscape).
Q28: Netscape is another browser written by _______________ and his team after leaving NCSA. (Answer: Andreessen).
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Section 7: Global documents
Q1: __________________, it’s the process by which people are allowed to add their links and notes to a hypertext document. (Answer: Collaborative hypertext).

Q2: What are the benefits of collaborative hypertext?
Answer:

a. In the field of interactive learning

a. This will greatly enhance the learning process

b. To allow someone to add his own notes and links to some relevant educational sites

c. Problems

d. Solutions

b. In the field of Computer-Supported Collaborative Working(CSCW)

a. In case of a group work project (creating a web page)/

b. Groupware software was created to help reaching this target

Q3: _______________ making the web to be available for all people, regardless of the software, hardware, network infrastructure, native language, culture, geographical location, physical or mental ability.(Answer: Universal Access).
Q4: _______________ the sharing of knowledge and information in a form that computer can interpret and exchange. (Answer: Semantic Web).

Q5: ________________ the building of trust as the 1st step towards using the web as a truly collaborative medium. (Answer: Trust)

Q6: ________________ Allows web pieces (products) to communicate and work together by adopting common open (non-proprietary) computer languages and protocols. (Answer: Interoperability).

Q7: ________________ makes the design simple, modular, extensible and compatible, in order to be evolvable. (Answer: Evolvable).
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Q8: _______________ in design W3C limits the number of central Web facilities, to reduce the web (as a whole) vulnerabilities. (Answer: Decentralization).

Q9: ______________ developers a more user friendly web, via using useful and powerful languages. (Answer: Cooler Multimedia).

Q10: XML stands for __________________________. (Answer: Stands for Extensible Mark-Up Language).

Q11: mention two types of mark-up language
Answer:

a. Procedural 

a. Tags define the size and type of the font used in the given text

b. Its codes apply to a single way of presenting information

e.g. HTML
b. Descriptive

a. A document is typically divided into distinct parts

b. Tags in descriptive languages are used to describe the purpose of the text in the document



Eg. XML
Q12: SGML stands for _______________________________. (Answer: Standard Generalized Mark-up Language).

Q13: XML stands for _________________________. (Answer: Extensible Mark-Up Language).

Q14: RDF stands for _______________________________. (Answer: Resource Definition Frame work).

Q15: ______________ is descriptive information about an item or computer file. (Answer: Metadata). Information about information.
Q16: P2P stands for ___________________________. (Answer: Peer to Peer).
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Section 8:  The future of the Internet
Q1: ________________, the author of this module, distinguished between the World Wide Web and the Internet.(Answer: John Naughton).
Q2: Epilogue was presented in a paper called _________________________. (Answer: Contested Space the Internet and Society).

Q3: mention some of the points discussed in the paper (Epilogue).

Answer:
A. The internet is still in its early days

B. The internet is not the web

C. The history of the network

D. The web impact on the internet

E. The architecture of the Internet

F. Anonymity and its implications 

G. Scale of the internet

H. The Internet as a communication medium

I. The digital divide 

J. Control of the Internet

K. Encryption

L. E-commerce

M. Intellectual Property Rights

N. Security in a digital age

Part 2: True & False
( F  ) The primary function of the DNS is to assemble and disassemble the packets of a message.

(  T ) The richness versus reach trade-off means that the richer the information is the less reach it has.

(  T  ) Gateways are mainly used to connect identical networks.

(  T  ) XML is an extension of the HTML language.

Part 4: Definitions
1. State, without any details, three uses of the Internet.



as a massive encyclopedia, a publishing medium, an entertainment medium.. (there are many you can choose from)

2. Define, in no more than two lines, the term SMTP.

It is the Simple Mail Transfer Protocol used for exchanging emails.
3. Give an example where the Internet has contradicted the richness versus reach trade-off.


An online bookshop can succeed in offering both richness and reach at the same tiem.

TYPE B
Part 1: Multiple Choice
1. System’s properties can be easily predicted from the isolated components and cannot be acquired from the system’s wholeness

a. True

b. False

Ans. b

2. The IP address consists of a set of 5 numbers, separated by full stops

a. True

b. False
It is 4 numbers (each 3 digits or less) separated by full stops
Ans. b

3. The Internet can be used as a huge virtual supercomputer, used to crack heavily encrypted messages; this operation is called

a. Super-computing

b. Virtual-computing

c. Semi-computing

d. Meta-computing

e. De facto-computing   

Ans. d

4. ____________ published ‘Cybernetics: Control and communication in the animal and the machine’, after working on the control systems of the anti-aircraft guns in the Second World War

a. Norbert Weiner

b. Vannevar Bush

c. Claude Shannon

d. Paul Baran

e. J. C. R. Licklider

Ans. a

5. In a ____________ platform, a computer passes control from one program to the other in a circular manner

a. Batch system

b. Time-sharing

c. Multi-user

d. Portable

e. Compatible

Ans. b

6. Which of the following is an advantage of circuit switching?

a. It is very efficient

b. It is very cheap

c. Many messages can be sent along the same path at any time

d. It is reliable and rarely breaks down

e. None of the above

Ans. d

7. The IMP can play the role of a router

a. True

b. False

Ans. a

8. RFCs stands for

a. Rational Facts Councils

b. Relational Fast Commands

c. Right Forward Corrections

d. Request For Comments

e. Rare fancy Care

Ans. d

9. Which of the following isn’t an Internet protocol?

a. IMP

b. NNTP

c. SMTP

d. NWG

e. None of the above

f. a and d

Ans. f

10. “The medium which carries the signals” is the task of which Internet protocol layer?

a. Application

b. Internet

c. Transport

d. Physical

e. Link

f. Sub network

Ans. d

11. A packet-radio network, appeared in Hawaii, at the same time of Arpanet’s existence

a. NPL

b. Cyclades

c. ALOHA
d. SATNET

e. Fidonet

Ans. c

12. Each header is removed from the packet as it passes through different protocol layers, on its way to the Internet

a. True

b. False

Ans. b

13. In the TCP/IP stack, the ____________ layer is the lowest layer 
a. Physical 
b. Link
c. Network
d. Transport
e. Application
Ans. b

14. Usenet News and ____________ were two factors led to the significant change in the nature of the Net and increasing its number of users

a. Fidonet

b. NPL networks

c. Cyclades system

d. SATNET

e. Aloha network

Ans. a

15. The heart of Unix OS is called the ____________ program

a. Core

b. Kernel

c. Monitor 

d. Main

e. Director 

Ans. b

Part 2: Definition:

1. Discuss briefly the relationship between the Internet and the Artificial Intelligence science.


The massively interconnected networks of computers can be compared to brain cells which are the source of human intelligence. This might one day lead to the emergence of Artificial Intelligence

2. In distributed networks, why some redundant interconnections are used between nodes?


If a link break then there will be another path to connect the nodes. Redundancy and decentralization ensures a survivable network.


3. What are IMPs and what are their advantages?


IMP stands for Interface Message Processor, they reduce the load on the host machine by processing the packets themselves. Also the programs used at each site are the same because the IMPs are the same.
Part 3: True & False
(√)  1- Fidonet was based on bulletin-board technology which is based on PC and file transfer software.

(√)  2- System thinking is the way of looking at the world and the things in it which concentrates on wholes rather than on parts.

(X) 3- WWW consortium (W3C) was led by Bill Gate. 

(√)  4- e-mail was the compelling application or the killer application for the Internet

(√)  5- The most significant aspect of TCP/IP was its open architecture-it allows the linking of any network to the rest of the Internet via a gateway computer which adhere to the protocols.

Glossary 
	URL
	Universal Resources Locator

	HTTP
	Hyper Text Transfer Protocol

	WWW
	World Wide Web

	ARPANET
	Advanced Research Projects Agency

	IMP’s
	Interface Message Processors

	NWG
	Network Group

	RFC
	Request for Comments

	SMTP
	Simple Mail Transfer Protocol

	FTP
	File Transfer Protocol

	NNTP
	Network News Transfer Protocol

	TCP
	Transmission Control Protocol

	IP
	Internet Protocol

	TTL 
	Time To Live

	PPP
	Point to Point Protocol

	ISP’s
	Internet Service Provider

	HTML
	Hyper Text Marked up Language

	W3C
	World Wide Web Consortium

	MIT 
	Massachusetts Institutions of Technology  

	XML
	Extensible Marked Language

	CSCW
	Computer Supported Collaborative Working

	SGML 
	Standard Generalized Markup Language

	DTD
	Document Type Definition

	RDF
	Resource Definition Framework

	P2P 
	Peer to Peer


                                                               


